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Assignment #2

Vocabulary: ‘ /

The crowd dispersed quicgflytbef the first gunshot.
The candidate iébfj’éiﬁiize {his own chances of winning the elections by sending vulgar
messages to the media. / .

The earthquake caused severe damage to the city.

The key witnesstestified against the defendant.

The hazards of working with open fire in a space shuttle are enormous.

Pro (for the ban):
e Secondhand smoke can be a risk even outdoors -/
e |tis comparable to smoke inside —
e Even a small amount can cause serious damage
Con (author): . .
People can avoid smoke outside ‘/ M“I\:f“ Iwmdads o%ul\d)new\ A{ w\\&«\dim*
. . . Le T en 24
Smoke disperses quickly outside

For a severe damage there already has to be a@g/—term@ inhalin%moke /we«&&m\l‘\'

The ban will create unavoidable smoking areas ca\\ n
The anti-smoking party will lose scientific credibility ¢ — k/ w
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